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INPUT HP [KW]
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SERIES: 3611, 3711, 4611, 4711
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SERIES: 3617, 3717,4617, 4717
GRAPH 1
THEORETICAL GPM

ACTUAL DELIVERY IN GPM [I/min] = GRAPH 1 - GRAPH 2
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SLIP - GPM [I/min]

SERIES: 3617, 3717, 4617, 4717

ACTUAL DELIVERY IN GPM [I/min] = GRAPH 1 - GRAPH 2

GRAPH 2
SLIP

20 [75.7] - ‘ ‘ ‘ —
10 [37.9] : - : : : .
] : : : L 2
: ‘ : ol O
1 : 33 : : : .
4[15.1] : : : e %L
‘ Do : : : N AT
3[11.4] 4 ‘ : < : : : Tl
: : Do : : : S |
2[7.6] ; : ™~ ! ; ; AR V)]
‘ : Lo ‘ : : Lo (LIIJ)
3 ~_ 1 |z
1[3.8] : : = : f : -
13817 : : - : : : o (LB
3 ~ 3 SN I
| ‘ : ‘ : Lo <
: : : : ‘ ) ] I
A4 [1.5] 4 : ; : : : : 1 O
BLLAI ERETETERTEIEE R A S SRR B
: : o : : SRR e
2076 SRR R A SRS LR SRR A
11.38] ‘ ‘ } } — } } —
o W » o ~ ) ~ 55 o o =) =) o o o
2 2 g 49 g g 5 0@ € 5 8 & = g
= = S 5 5 o o = 4 o o o _ = =
g & 8 S S S g 8 S S 8 8 8
g8 8 - N S 8 g8 8
—

VISCOSITY - SSU [cSt]

ON DIAGONAL LINES



INPUT HP [KW]

10 [7.4]

9[6.7] A

8[6.0]

7[5.2] -

[4.5]

5[3.7] A

4[3.0]

3[2.2] -

2[1.5]

1[.75] A

0 [0]

SERIES: 3617, 4617, 3717, 4717
GRAPH 3
INPUT HORSEPOWER

TOTAL INPUT HORSEPOWER [Kw] = GRAPH 3 + GRAPH 4

0

DISCHARGE PRESSURE SHOWN

100 200 300 400 500 600 700 750

ON DIAGONAL LINES



SERIES: 3617, 3717, 4617, 4717
GRAPH 4

Carbon bearings recommended
for low viscosity, non-lubricating
liquids.
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SLIP GPM [I/min]

SERIES: 3622, 3722, 4622, 4722
GRAPH 2
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SERIES: 3622, 3722, 4622, 4722
GRAPH 4
VISCOUS HORSEPOWER

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4
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